Ll R &4
TR N AN (4) (BIERR)

iR (X7 b VIR p(t) 12U T, s(t) % 026 tIZB 2 ZDOMMOEI LTS5, p(t) =
(sint, V31, cost) 95, TDELE, (tIZHBITD) T ML % p(t) (ZBIL T,

= p(t) = (cost. V3. —sint), || p()|| = \/(cos t)2 + (V3)2 + (—sint)2 =2

Thh, = p(t) &, ds=|[|4&p(t)|| dt Zi0L C,

d dt d

l i 3 —
5 Pty =2 p(t) = 5((.051. V3. —sint) = t(t)

L BB, SOEE, (BT LA kb Tt()#i

d dt d 1 d

q.-l

Et(” == t(t) = 5 { ~(cost. V3. —sint)} = 7 (- sint.0. —cost)
8D, TDEE, ROMBWIZEHER BRIV,
(1) p(t) D (2B 3 ) B EEARY ML n(t) & RDBX W,
<ty /
d5 A "'—[/;s‘u--?L ¢,=r¢_a, . VR G
5 e, *J—ll(-c,mt G;’(()S_L)u T
(2) p(t) D (LIZB1) B ) PEESRARZ bV b(t) % kKD X W,
P4 z \< = e
’“‘(’}\ft l[ \ b ‘—._:g {1 I| 2 ‘:* '{T I 1.‘?- - _\_ \
E‘(b'i-t . '_.__:‘ _)—'TL-"S\\TIC 1!. ";) N l\‘?? (es ) _:j-" ) _-E'S"H -
\—s‘-v;t g wpeisd )
= [-B art —8)2
i . /
+ (F.?_-.S‘,b,‘ ¥ _é“fcg'tﬂ‘u'
( v+ "i;— swt Dk
(3) (t125133) (—b(!) % Reb X W,
| B s =
L_h _ 1 d L 82 4% {37 o
‘x\:\\ %tx .—Lw)@c\ S (?-\ ( {\‘%J[; =y = ST :j(]‘j fJ} {;_1 \
(4) p(t) 1%, @BV FALh) I R HPEXLI W,
7? D) 3 Mk %FF,"\ o 2" --Stff:»*..‘(!\
(5) p(t) D (BB ) WK (1) & KDAEXT
. tyV-
I\ ¢ WA ARy =_T .k
Sy’ = EN. ~ 18 = SR G
AS ‘d‘_- N - :\_: N A : |y 2 A
I = < == A=A, o Q = - - Slu
IR Ahtha" + . ‘



